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Lisung zu Aufgabe 10.9

a) Jahr| Zinsen | Tilgung | Annuitét Restschuld
111600 - - 21600
211728 - - 23 328
311866,24 2916 | 478224 20412
411632,96 2916 | 4548,96 17496
511399,68 2916 | 4315,68 14 580
6|1166,40 2916 | 4082,40 11664
7| 93312 2916| 3849,12 8748
8| 699,84 2916 | 3615,84 5832
9| 466,56 2916 | 3382,56 2916

10| 233,28 2916 | 3149.28 0

b) Jahr | Zinsen | Tilgung | Annuitat Restschuld
1] 1600 - 1600 20000
2| 1600 - 1600 20000
31 1600 2500 4100 17500
41 1400 2500 3900 15000
51 1200 2500 3700 12500
6| 1000 2500 3500 100060
7 800 | 2500 3300 7500
8 600 | 2500 3100 5000
9 400 | 2500 2900 2500

10 2001 2500 2700 0
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